versione0
Equazioni differenziali — 0

DSol ve[{y' [X] = 8x+3 eVIX1* y[-2] = 4/ Log[9] }

2y[x]

yIx1, x|

Reduce[4 x"2 -3 x 2 1, X]

1
X<-—]|x=1
4

Funzioni di due variabili, punticritici— 0
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X-y+1
glx_, y_1:= ;

X +3
fIx_, y_1:=9I[x, ¥,

2
plIXx_]:=3-x% p2[x_]:=2-—x?
3

X-y+1

Pri nt [Sol ve[{y = pl[x], == k}, {x, y}”;

X +3
Print [Solve[9+10k+k2 =0, k]];
Print [Sol ve[g[X, y] = -1, y11;

Pri nt [Solve[g[x, v ==g[\/?, O], y”:

[y~ [1_4k_k2+J9+10k+k2 k94 10K + K2 ) x+%[—1+k+\/9+10k+k2 )}
{y»%[174k7k27\/9+10k+k2 vkJ9 410K + k2 ) x»%[71+k4/9+10k+k2 )}}

{{k > -9}, {k->-1}}

N | -

{{ly >2 (2+x)1}

2(\/?—x)
W—m
Z(V?—x)
aa = Pl ot [{pl[x], pP2[x], 2 (2 +X), ——}, {x, -4, 3}]
3+'\/?

figurarl, -4.2°, 3.1, -3.7°, 3.8, aal;

£ 2

// \\/
/LA
— \

//
Al

Integrale doppio — 0
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1y
fIx_, y_1:= X—Ze*.

3
Si rrplify[{rf[r Cos[t], rSin[t]], jrf[r Cos[t], r Sin[t]]dr,
1

J.Zfrf[r Cos[t], r Sin[t]]dr dlt}]
o J1

e™nit] sect 12
o T Tt Log (3] Sec[t]? (-1+e) Log[S]}

r
Numeri complessi — 0

nop= 2 = -3+3 V3 4,

W='\/7—'\/?J'L;
Print [Sinplify[{Re[z/w], Im[z/wW]}]];
Print [Simplify[{Abs[z /w], Arg[z/Ww]}]]

3 3(-14+/3
{7z -e), (275)

s ?}
Matrici, autovalori —0

3«/?3],
3 V3 )

Print [Sinmplify[Ei genval ues[alll;
Print [Ei genvectors[a]]

CER)
(RESRUR =1}

ins9l:= Print [{Normalize[Ei genvectors[a][[1]1]1],
Nor mal i ze [Ei genvectors[a]l[[2]]1]}]

In[53:= a = [

VER! 1 V3

ne1= p =44 —, —}, {-— —— ¢} MatrixForm[p]
e p={{—o s -7 51
Out[61]//MatrixForm=

V3 o1

2 2

1 V3

T2 2

in[e4]:= Matri xForm[p. a. Transpose [p]]

Out[64]//MatrixForm=

oo

versione 1l
Equazioni differenziali — 1
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DSol ve[{y' [X] == 8x+3 e/ IX1?) y[-%] = 4/ Log[2] }

2y [x]
yIx1, x|

Hy[x] »j\/Log{Z [?’szxz

'

3 X 3 X
Reduce[Z (-——ZXZJ <1882 (-—-2x2] >0, x]
2 2

<x <0

AW

13 3x 3x2 13 3x 3x2
Reduce[Z —_———_—- — | 2 1&&2 | — - — - —| <0, x]
4 2 2 4 2

Funzioni di due variabili, punti critici — 1
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X-y+1
glx_, y_1: ;

X +3

fIx_, y_1:=2g[x, y/2];
Print [Toget her [Expand [f [X, y]]1]

2
PLIX_]:=2% (3-%%); p2[x_] :=2% (2——x2];
3

Print [Sol ve[{y == p1[x], f[X, y] =Kk}, {X, Y}I11;
Pri nt [Sol ve[9+10k+k2 =0, k]];
Print [Sol ve[f [X, y] = -1, y11;

Print [Solve[f [X, Y] ==g[\/?, 0]. y”;

2+2x-y

3+X

Hye%[4—8k—k2+2\/36+20k+k2 k/36+ 20k « k2 ) X >

[—2+k+x/36+20k+k2 )}
[—2+k—x/36+20k+k2 )}}

NP P

1

y-~ (4—8k—k2—2\/36+20k+k2 +k/36420K + k2 ) X
4

{{k - -9}, (k- -1}}

{{y >5+3x}}

3-/3 +5x+/3 x
(-

J)

3+/3
4(‘/3_—x)
aa = Pl ot [{pl[x], pP2[x], 4 (2 +Xx), -—}, {x, -4, 3}]
3+'\/?
figurarli, -4.2°, 3.1, -5.7°, 7.8, aal;
5
[

—+
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~—
7

|
< |

A \

I \
il I

Integrale doppio — 1

1 2z
fIx_, y_1] .=X—2ex,

2
Si n’plify[{rf[r Cos[t], rSin[t]], Jrf[r Cos[t], r Sin[t]]dr,
1

; 2
J."J-rf[r Cos[t], rSin[t]]dr dlt}]
-3 1

eZTan[tJ Sec[t}z
- T @2Tanltl | gg (2] Sec [t ]2, Log[2] Si nh[Z}}
r

Numeri complessi — 1

In[36]:= zZ==-2 V2 +2V2 1'1;

W=l+'\/?i;
Print [Sinplify[{Re[z /w], Im[z/wW]}]];
Print [Simplify[{Abs[z /w], Arg[z /wW]}]]

“1++/3  1+4/3
Rl Ll
5
{2 o}

Matrici, autovalori — 1




1«/?],
V3 o3 )

Print [Sinmplify[Ei genval ues[alll;
Print [Ei genvectors[a]]

{4, 0}

In[65]:= @ = [

ins:= Print [{Normalize[Ei genvectors[a][[1]1],
Normal i ze [Ei genvectors[a][[2]1]]}]

(ERRE I L)
REl

In[e9)= P = {{E > } {—g %}} Mat ri xFor m[p]

Out[69]//MatrixForm=
1 V3

2 2
V3 1
2 2

in[zol:= Matri xForm[p. a. Transpose [p]]

Out[70]//MatrixForm=

(50
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